°Nume: A )&% : Date:
3.1 Solving Problems by Estimating Page 1 ﬁ)ﬂsﬂﬂ e

Student Book pages 68-69
& |-5,
You will heed

Estimate sums of 2-digit numbers to solve problems. ) * base ten
block_s
Problem « a place =
Lang wrote a story. value chart J
- e
His story has 3 pages.

* Page 1 has 21 words.
* Page 2 has 43 words.
¢ Page 3 has 45 words.

o Did Lang write more than 100 words?

, Use base ten blocks to show the number of words

%)on each page. .
/" Hundreds Ones \ N u |
) 2 1 \ [20]
aea B q‘s 5 2:0
u3 @ 4 3 4Q l
aeagn y ‘ us '
Pak =3 189

Step 1: Count the tens. M | 1S bed
How many tens are therg? I\Dg th*eﬁ-s 1S |

|76 | Learning BLM 3.1: Solving D j Copyright © 2008 by Nelson Education Ltd,



o Name: Date:

3.1 Solving Problems by Estimating Page 2

Step 2: Doss Lang need to count the ones to know if he has more
than 100 words? - N©Y - )usf needs on € o2
How do you know?

8

T con See Haok ther s moee Proun 106

wovads ey T fers
Did Lang write more than 100 words? 5{@ < .
e pl‘.r
Eaﬂmﬂng. 3 1
Jodi's story is 2 pages long. 4 9
Page 1 has{lig words. O er- .
Page 2 has@S words. +' g O . JoO A (Q ‘5
e T,
loO = 1O 7

._ How can Jodi find out if she wrote more than 100 words?
S < am (US@ QA N Goontel i Lo oy

2

Loose 10 olocks | Achek via dipg

Ao spoe 1 £ (D0 or rmsee.

A

Tens Ones L2 4
gl VIV | v g =
%e} 1) \ Y ic. b5 v L:’_—?\)

A bo “

o . ’Odw0fd$+73l?g7 Lﬂo*r 7015}-"-0
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@ Name: Date:

3.1 Solving Problems by Estimating Page 1
' Student Book pages é6—69

1 Estimate sums of 3-digit numbers to solve problemsj

You will need

* base ten
blocks
Checking =
¢ a place
value chart )J
1. Maya wrote a story. — ~

The first page had 275 words.
The second page had 250 words.
Does her story have more than 500 words?

Step 1-.the kind of answer you need:  exact

How do you know?

T Knan e caup she reeds  Soo Lwds
mOJT «0{&(% Lmuld >0 OVl Hoo,

Step 2: Model 275 and 250 with base ten blocks.
Draw your models in the place value chart.

/" Number Hundreds Tens Ones

275, ﬂ“ﬂﬁﬁ NN

T i Y,

C

250

Did Maya write more thaEOO words? 4{_%%_ 5

How do you know?

hen T add 275 plus A50 T oct

Ha5 which S yoe tHan ~ 500, _@

| 74 | Checking & Practising BLM 3.1: Solving Problems by Estimating Copyright © 2008 by Nelson Edlucation Ltd. - |



@ Name: : Date:

3.1 Solving Problems by Estimating page 2

Practising

4. Your school has $800 to spend on a computer
and a printer.
The computer costs $575.
The printer costs $275.
Does your school have enough money?

Step 1:the kind of answer you need: estimate

Step 2: Estimate 575 + 275.
Modei the numbers using base ten blocks.
Draw your models.

. /" Number Hundreds ~_Tens ~ Ones N

575 A |
BEWlc—r

~
. - | Y,

Does your school have enough money? } ] @) T
How do you know?
J

Rl‘-"

275

VNN s% -‘Ego oVer —nh ncs‘«l-

_

Copyright © 2008 by Nelson Education Ltd, Checking & Practising BLM 3.1: Solving Problems by Estimating [ 75 |

O

- m——



Name: Date:

check
(o e
2] 24 6 b) R
Estimate sums of 3-digit numbers to solve ] +|108 +29 8
problems. _‘;6-3 m
ﬁ
_ S al d) 1 bki
1. Use mental math to calculate the first sum. y 53 + 28 8
Use that sum to estimate the next sum.

a) 300 + 100 = 490 56298 + 105 = about _{'&O{L{o’ 1
b) 200 + 300 = _BAO0, 50 202 + 298 = about __SHO |/
©) 100+50=_|SD 5096 +53=about_ 50 |/
d) 150 + 300 = _ 45050 161 + 288 = about_/tgg vd
@ 2. Estimate each sum. Show your work.

a) 249 + 199 is about _ A HO +200 = 11‘:50 =260 1200 =%
b) 96 + 402isabout /OO 1= L} = Hoo

~ €} 353 + 47 is about 3501+ §D = 4006

| d) 208 + 297 isabout __ o0 + Sod =560

3. Cole’s father saved $600 for furniture. He wants to buy a rug check
for $277 and a lamp for $303. Does he have enough money? &)

Show your work. \}@5 e aue 277
300 + 300 = (oo v e estimaded L3208
a\nex

\r\ g dhan 590
o O,
4. Kate made 200 brownies. She needs 145 brownies for Q)QQ&Z\
a bake sale,.and she needs 48 brownies for her class at school.

Did she make enough brownies? \JQS b cause | \f 5
®) 150 + 50 =9.Ioo s kﬂi - 48
—— ¢ 19 3

18 Nelson Math Focus 4 \,\«] 3 Copyright © 2008 by Neison Education Lid.,



ADDITION AND SUBTRAC

Adding Mentally

QU

@ Use mental math strategies to add 2-digit numbers.

1. Move counters to make the addition easier. At-Home Help

Then write the answer. -l Moving counters from one group

@%@ @%@@7
0O®® 000N ®
~|’7/.‘-«'

il ses GEED @R

® O to another can sometimes make
@00 adding easier.

. | 19 + 8
2. Use mental addition.
a) 20 + 30 = 50
b) 50 +20=_ /O 2., 7
C)QS)Jr 1‘)= 20 + 30 = So 19:_8232+7
d) 2 s +30= S0 O

e)§g+2'1’l= So + & = 70.

3. Use mental math to solve these problems.

} Ll

a) There are SSCst{ugients in Mrs. Jones’s classroom )-fO + 420 = QO -+ /

and 23 stsdents in Mr. Singh'’s classroom.

< ol
How many students are there altogether?
2) -2 -

b) Payden has 4gzrcents and Jill has gz%ents. 50 ta0= 70

How much money do they have altogether? 70

t +
c) Avis is 196‘ Ier grandmother is 55 y%:)ars older. 2o + 60 — SO -3

How old is Avis’s grandmother? 7 7
i" -
d) There are 3{’03328 on one shelf and 4§o§ a)nother. ~O "";l O = 30
How many cans are there altogether? gD
é'!'?/) . é‘ln«’/? | . Z0+40=7) 0
e) There are 28 large paper clips and 38 small paper clips. (9-?
How many paper clips are there altogether? ' (/

&%g Addition and Subtraction Copyright © 2017 by Nelson Education



Rounding Numbers Name

aound 473 to the nearest 10. Q | 234 w
"i?’ N round down

round e
| I 1 1 |%'ﬁ;l | | | | I O | Li 11 | I O | ] I
460 470 480 490 500 510

)%

Think: the closest multiples of 10 are “i7(}and 480},
473 is closer to ™7 (}.
473 rounded to the nearest 10 is -/}

e L e R s Sy R A R R e B R T G TR

Use the number lines to complete the sentences. O When a number jg

(o) haleay between 2
Round 6350 to the nearest 100. &} multiples, round up.
1 ' (6350

AIIIlIIlllrlllllllllllllllllllllllll#lllllllllﬁ
6000 6100 6200

(©300~ 6500 0
O Think: the closest multiples of 100 are & 3 and £ 40
6350 is halfway between 300 and _b YD

6350 rounded to the nearest 100 is ._é_"_l’o_o

L A E e e R e bR T B o Rt ik e S PR Rl A s A i 3
Round 87 692 to the nearest 1000.
2.
_.Iiit!l]fLIiLllxrllil.Ii‘ =r11:_4r|=t111rrtll
85 000 86 000 87 000 89 000 80 000

Think: the closest multiples of 1000 are & 7 29 4nd &Y 0

87 692 is closer to MGQ
87 692 rounded to the nearest 1000 is _ELQQC)

o SRR e H AR R R T R Iy

Round the numbers. Use the number lines above if you wish,

glto the nearest 10 ___S00 d;bo to the nearest 100 _(ﬂq o0 .
6@80 to the nearest 100 _@_L a@ 500 to the nearest 1000 ﬂ Qoo

6 Reteaching For use with MathQuest 5, pages 18 and 19 MathQuest 5 TRB

copyright © 1986 Addison-Wesley Publishers Ltd.



Multiples of 10, 100, and Name i _

1000 B |

Count by 10. Write the multiples A muitiple of 1015 a number
of 10 between 20 and 130. whose last digit is O.

SOy LY 50y A0 0 80 SO 00 TG 20
Complete.

A multiple of 100 is a number
whose last 2 digits ore O.

1. Count by 100. Write the multiples
of 100 between 600 and 1500.

700800900, 1000 1100 100 1300, 1400

LAY

2. Count by 1000. Write the multiples A multiple of 1000is a number
of 1000 between 53 000 and 59 000. whose last 3 digits are 0.
5 O008R 000 55 000, 57009 §F 000

Use the number lines to complete the sentences.

@ - 0

P | | 1 | ] 1 ] 1 !

e Y
@ 81 a0 83 8 85 8 8 88 89 @

The multiples of 10 on the number line are _QO and C? O.
The multiple of 10 closer to 89 is C?D_.

il B TR R T R S :

R SR R

. @
ﬁ\ 1 /’h\’ | ] | L 1 1 1 [

C@) 410 («gﬁ () 440 450 460 470 480 490 0

The multiples of 100 on the number line are i{'_o_Dand 5_®
The multiple of 100 closer to 423 is".90 _

5. 3878
o | | 1 1 1 1 1 1 i
3000 3100 3200 3300 3400 3500 3600 3700 3800 (Ggoo) (4000
40) : TheTultiples of 1000 on the number line are 3000and 4080 A

copyright © 1988 Addison-Wesley Publishers Lid.

The multiple of 1000 closer to 3878 is ’:L@

MathQuest 5 TRB For use with MathQuest 5, page 17 Reteaching 5



o Name: Date:

3.2 Estimating Sums Page 1

e Studens Book pages 70-72

1 Estimate sums in different ways. j

Problem

Aneela plans to run the route shown at the right.
@ About how far will Aneela run?

Use two ways to estimate.

Estimate by adding the hundreds .
Write the numbers in the place value chart.

. The first one is done for you. FT‘D n 'k' ’ N 2 ;? g Q

(" Number Hundreds. Tens Ones O
210 [ 2 11 0

\_ 320 \\\/ 2 v J

ihe hundreds—.,\ 5 O Q /

Add the circled hundreds.

200 + 300 B0 T con mml@ea..»

Aneela will run about _& m: W ,ﬁm % 5 j

2001 RJoa T 500"‘
oo + 400~ 100

Copyright © 2008 by Nelson Education Ltd. Learning BLM 3.2: Estimating Sums [ 81|




o Name: Date:

3.2 Estimating Sums Page 2

Estimate using a ber line

90 PaRgo0 A 350
[ 4 { £ + >
0 100 od, 300 00 500

\H"—\-—___‘___u‘_‘_-_‘_.
Step 1: Find 210 on the number line.
200 is the closer hundred. L~

Step 2: 310 is close to 300. A0OQ T 300=300
Start at 200 and jump 300 m.

Aneela will run about -S-OQ m.

_Reflecting 4

2 . - h
How would you estimate 280 + 1907 0O 1 4%0- 500 < go T/190=770

)_(A_b_a_gp vound otk to tho e
hundired st Hon add, gw; B\

2 +19 a:u 470 (+38>
T Cre S
300 v ago 500 - N |
What other ways can you use to egfjimate sums?
e can vourd usSing
Soont enrnol mothod 7 +()o

200 ¢

&

Lens o ) +/90 )
47 0

| 82 | Learning BLM 3.2: Eimaring Sums Copyright © 2008 by Nelson Education Ltd.
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@ Name:

3.2 Estimating Sums pPage 2

Practising

2. Estimate.

a)Gh7 +@I_ 3
Add the closer hundreds using the number line.
Record all your jumps.

.
900

+ it ; 3
700 300 1060 1100 1200

e
500 600

567 + 513 is about _&9‘_@7 BV

Date:

50O + 500 =000

edld N
| 00O~ 00O

4. The chart shows the number of people who went fo a 3-day folk fastival.

Estimate the tfotal attendance.

4 Day Anendunce\ o
QO Thursday 9 ¥ qQO @
Friday 99 o | 2008
\ Saturday @75 N A000 -
Circlgythe P 8129___%83
800 - 899 =
5 gec qOo ‘goo l",q
1700 1099 @ V20 '
: @ q 1‘L { )
00 J&¢ 60 "
2000 2375  (2400) S350 e ag5b

| |

Add the circled numbers. ' &; )

iw+_@00+ RY L = 5[@@

e
23S AYod U

sa00 3000

9 About how many people attended the festival? ﬁ@‘—f’

| 80 | Checking o Practising BLM 3.2: Estimating Sems
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Date:

@ Name:

3.2 Eshmahng Sums Page 1

e Student Book pages 70-72

‘ Estimate sums in different ways.

Checking

"1200m

1. Kate plans to run the route shown at the right.
450 m tb:r AR ATAS A TN -tﬂm-?"
{400 m
Estimate how far she will run by adding the i s e
m
thousands. -
Write the numbers in the place value chart.
The first one is done for you.
«/~ Number Thousands Hundreds Tens Ones )
|1 Odoo ot} NN 0 0 @
1290 | 9 o
/00 M & 0
\ 1800 {, Ll - &,-/

Kate will run about = QOC m.

Explain one other way you could estim

g o aclc/

ate how far zc‘n‘e will run
4@@ S

L

!QQOJ

4O

M T o W
(A JL )

TR2000

)Oo0 = 3000

HOO

K00

Copyright © 2008 by Nelson Education Ltd.
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& Name: Date;

] |
Estimating Sums @)
Estimate sums in different ways. j
1. Estimate each sum. Show your work. At-Home Help
a) 210 + 499 is about Here are some ways to

&OO A— 500:: "kx_) dz 2\0*5‘3‘3:"1'0 estimate sums.

* Use base ten blocks or
b) 589 + 308 is about T°F counters to model the

boo 4+ 2pd = qog)‘ s 6001’33014100 problem.

* Use a number line to model

€) 1072 + 994 is about the problem.
4 — oD * Estimate by adding the
{ \OO00 lo>oo Q closer hundreds or
| d) 3987 + 2001 is about thousands (e.g., 1130 is _
I G} L(;OC) O T acon = booe 9 closer to 1000 than 2000

! 2. Estimate each sum. Show your work.
a) 510 + 203 + 696 isabout Koo + o0 + “Joo = [4oo
b) 1080 + 5098 + 2900 is about 1000 + 5006 + 20002 F e

€) 929 + 1100 + 997 isabout _1000 + Jpou + [ooo = 30

d) 2033 + 1002 + 1977 is about X200 + jooo+ doos = 5 00m

e) 3172 + 3030 + 2960 is about 006 + 3o0o Joee= 9 pon

f) 1072 + 2908 + 3978 is about __\0©0© + 3060 + Lsoa= OO

3. Jade wants to collect 8000 pennies, or $80. She has a jar
with 1048 pennies, a jar with 2083 pennies, and a jar

with 3992 pennies. Does Jade have enough pennies? NQ ’}9?.6 o
% How do you know? She on hqggf .

1000 + Qo000+ Hooos TOOo OB,

Copyright © 2008 by Nelson Education Ltd. Chapter 3: Addition and Subtraction 19



Estimating Sums

h Estimate sums by rounding.

1. Estimate. Show your rounded numbers.

At-Home Help

You can use rounded numbers
to estimate a sum (the answer

a} 1867 + 913 is about equal to when you add).
2000 +]00o= 2000 3859 + 1321
. yd N
b) 3611 + 1489 is about equal to closeto 4000  close to 1000

Hoos T ]500; 5500 The sum is about

4000 + 1000 = 5000.

s

c) 1156 + 2722 is about equal to
\coo T 2000 = HooD

d) 999 + 1999 is about equal to
o + A = 3

Estimate the answers to these problems. Show your rounded numbers.

a} Jack’s mother drove 1245 km on Saturday and 985 km on Sunday.
About how many kilometres did she drive on those 2 days?

|00 +1000F S0
b) 4856 people live in one town. 3345 live in another town.

About how many people live in the 2 towns? alOOUf 800 o
5000 +~ R[oco= KO0 ‘PQ, Q \ivﬂ—

Use rounded numbers to find whether $5000 is enough to buy
both items in each part. Check your answers using a calculator.

a No, npt ewsugh by | 300 +&Sco= 3700
ISoo T HS00= booo @ Yes, evaugn st Cause.

6600 Booo, 5000 3. 3706,

17 by Nelsan Education Ltd. Addition and Subtraction 31



Name: _ _ Date:

Try These
1. Circle the best estimate. Explain how you estimated. —@

ossible estimates

a) @_+@3 60) 70
20+ 30" 5@ '

b)0g +Ule 90
D,

ELL_BDE-__L@CJ

c) 37+ 25 50 60
HO 30770

2. Estimate each sum.
Show the numbers you used to estimate.

a) 32 + 41 is about 2{2.
B30 + 4053 70

@ o) 17+ssisabour O
2O + pn= O
c) 29 + 36isabout __ /D .
Ze 740 =

3. AryG uses a 100 chart fo add 27 + 28. 1|2(3|a|s5le|718!9!10
He adds 28 in parts by adding 20 11]12]13|14 15|16 |17 | 18| 19| 20
and then odding 8. 21 €23 [og)| 25| 26 (27| 28| 26 [ 30

To add 20, go down 2 rows.

1)

'/
To Gdd 8. gO fOfWUrdS 8 or 3137133 |34|35(|36 37:;}38 39| 40
gO dOWﬂ 1 row (fhﬂt’s + 10) 4142 | 43 | 44 45 | 46 47}48 491 50
and then back 2 (that's — 2). 61]62)59 |S535 98] 37158150 €0
Use the 100 chart to add. 61624 63) 64]65/66|6768/69) 70
Use a different colour for each addition. 71172173/74)75|76 |77 {{8) 79| 80
Jda4- 10 89 90

cﬂq,f"lg‘_) 81828 85|86|87
a) 22 + 1= 3&{ c) 24 + 69 = C&“f 91|92 (e3}6%| o5 | 96 | o7 {98} 09 [100

) b363+33=i,§?.§_ d)?aﬁiw— qg\/\ .

631307 Q7

o Adding Two-Digit Numbers, Polhway 2 Leops and Bounds Copyright © 2011 by Nelson Education Ltd.
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Name:

Date:

4, What is the total cost?

5. Show 2 ways to complete each addition.

Jg riv= L

ayus +7

\ ot 77 57

1
i
L

b) 67 + 24

Copyright © 2011 by Nelson Education Ltd.

i"'-7,,_) + Q- 911-!@7_? A6 = 87‘ —>p R0 * 7

Leaps and Bounds

o +23° [ @

e b S s T e ..1,.,,.

I,

X O qao‘: HO
1

0.

Adding Two-Digit Numbers, Pathway 2 0



o Name: "\‘ 2O (j\U’P Date: “Damn & D
3.4 Adding from Left to Right Page 1

. Student Book pages 74-76

Solve addition problems by adding from left to right. ) * base ten i

blocks

Problem

* a place
A forklift operator wants to lift 3 containers. value chart
The forklift can safely lift up to 400 kg.

Can the forklift safely lift all
3 containers?

Use base ten blocks.

Step 1: Model each number with

base ten blocks.
O Draw your models.

7 Hundreds Tens Ones

Dj | A 212
D ,'r ' P! 123

\\\\\ ¢ o0+ |SM
- J/

200+ %0 t 9 = 239

Copyright © 2008 by Nefson Education Ltd. Learning BLM 3.4: Adding from Left to Right | 89 |



o Name: Date:

3.4 Adding from Left to Right Page 2

Step 2: Add the hundreds.
X
00+ 100 + O - 300 B?)

Step 3: Add the tens. B ‘+

0+ RO + Ko =80 | BOO

Step 4: Add the ones. O
.+ 3 + 4 - 4 *+ CI
Step 5: Add the hundreds, tens, and ones. 3 g ?\

300+ @ + ? = SW
Can the forklift safely lift all 3 containers? ‘yé

How do you know?

Re cause 3¥9< HOQ

How could you have predicted whether the forklift could safely lift all 3 containers?
use R00
E _ +~ KO
eshmocn O O
i al T 7-5‘8—\_1

| awch st added Hhe ones

| 90 | Learning BLM 3.4: Adding from Lefs to Right Copyright © 2008 by Nelson Education Ltd.
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@ Name: Date:

3.4 Adding from Left to Right Page 1
r. Studant Book pages 74-76

1 Solve addition problems by adding from left to right. )

Checking

1. A forklift can lift 8000 kg safely.
The operator needs to lift 3 containers.
« Container 1 has a mass of 2455 kg.
= Container 2 has a mass of 849 kg.
* Container 3 has a mass of U567 kg.
Can the 3 containers be lifted safely?

Step 1: Write the masses in the place value chart.
This Step has been done for you,

~
O /" Mass Thousands Hundreds Tens Ones )

2455 2 g

849
4567 +

addl
add

Housands

hundreds

:
-

adld $ens

0

y

6
WA

—
T

NS - IRl

: [
ofld omlo—
a(ﬁd Q N:o G}'Q’ m( 7 %\‘

Step 2: Add from left to right. Write the totals in the table.
The thousands have been done for you.

727 € Booo

" Copyright © 2008 by Nelson Education Ltd. Checking & Practising BLM 3.4; Adding from Lefi o Right | 87 |




@ Name: Date:

3.4 Adding from Left to Right Page 2

a) Can the forkift lift all 3 containers? 5} s

How do you know?

Wnen e (mlded‘ ain 4&@@" Aot
e WS 79| Kg whidh (s lesx Hhan 8eed,

b)l\/d you eshmcn‘e to solve the problem or did you calculate an exact answer?

25 but our eshmate wos Joo hy
Us; n3 Lrant _end roundwg

-

Explain.
dded the exect
Whs rove. A< cureatd
Practising
6. Add from left to right. Q}
a) 1[2]5]9
+ 6|18
Slolo] Bdd e *\'QIWOUSQ.V\Q(S‘
]%/]—7 ‘ Q OO C,LCLCL ‘\‘%e h kt‘-\_g -r.d
ZA16] e s
+ \ | 7 o d jné ﬂé’g,
BT eddail dogemhen
B[ T6 963
+12 (3|64
glololalodd the +Hhousaids
rialolo Ad Fing ViU aed
\ (A QCQ[L fhe ten<
L edd ng—ongg
O) ~ <ﬁ: '--/“Lakd CLl "'Oj-e,{’g’\.ﬂ{ 1

[ 88 | Checking & Practising BLM 3.4: Adding from Left to Right Copyright © 2008 by Neisan Education Ltd.



i Name: Date:

Y tessond

gmﬁa-%
Adding from Left to Right

Solve addition problems by adding from left to J
right.

1. Add from left to right. Show your work. At-Home Help

a) TTal1]4 d) 5lolel7 Follow t.hese steps to add from
" NG Tslel313 left to right.
= - Step 1 Add the thousands.
110100 8 2100 Step 2 Add the hundreds.
q 010 Qg_g Step 3 Add the tens.
5 Step 4 Add the ones.
T- -—g‘ Step 5 Add them all together
915 (9 Kg to calculate the sum.
' For example:
@ b) 214(1]5 e) 4(1(1[1 1246 E
+|3(2{2]1 +!11{7]0|3 +2934
clolo|D AP 3000 (thousands)
AEE Zofo] | 10p furdem
32 I. 0 + 10 {ones)
wx 4 4180
6.3 G _TIAlLig] - /
¢ 1L
c) 6224 f) 111]4(3
+11(7]618 + 21511
71 O o0 41012
9l0|0 oo
glo 710/0
H [ /& Glo
yINICIE] ko B B
1121914

Copyright © 2008 by Nelson Education Ltd.
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Name: | Date:

Scaffolding for Lesson 4, Questions 3 & 6 Page2
STUDENT BOOK PAGE 76

6. Calculate. Show your work.
Some of the steps are done for you.

a) c)
1121519 ¥l ol1]1
+ '8l1]8 3 4|5
~11]0/0j0 w967
- 1810/0] 4000
CLiele] [ 4100
w0 L 7L 1'1 0
[ 8 71 + ik
S5 VP32 O
b)| | d) |
6963 111516.7]
+192'3:6Y4 115/7,8
18000 11215167
112:010] 1000
A9, /15 00
4 IR VA /9 0
A= 7 v Q&
INVARRYZ O

[ 66 | Chapter 3: Addision and Subtraction Copyright © 2008 by Thomson Nelson



e Name: Date:

3.5 Adding From Right to Left Page 1

. Student Book pages 78-80

You will need &
Solve addition problems by adding from right to left. ) * Ezj’:l’(:’” @ .
%l = T

Problem » aplace [==

Aneela’s school collects food labels to get points. L value chart .
They can trade the points for school equipment.

@ How many points does Aneela’s school need for the whistle and basebail?

Use base ten blocks.

Step 1: Model the numbers with base ten blocks.

/ Hundreds
+1 A\
8|5 {
#17]5 \
S FRR

=S

Step 2: Add the ones.

5 .5 -0

{ o4 | Learning BLM 3.5: Adding from Right to Left Copyright © 2008 by Nelson Education Ltd.



o Name: Date:

3.5 Adding From Right to Left Page 2

Step 3: Regroup the ones. Add a ten. @éﬁi’o}ép} )
; Trade 10 smaller
/r Hundreds Ones units for 1 larger unit,
or 1 larger unit for 10
“THF A| smalter units
8|5 {

+|715 \ CI- N

7iror g AGEE -~

P P e | \_ Y.
o
Step 4: Add the tens.

20 .70 . )0 - O

Step 5: Regroup the tens. Add a hundred.

ﬂlundreds Tens Ones \ O

a o
Kl b
[ [
H u
[ n
E n
N “
" H
v n
i b

Step 6: Add the blocks.

100 + 00 + 0 - 160

Aneela’s school needs _LQP_Q_ points.

Aeflacting ;

How do you know when to regroup when you are adding from right to Jeft?

_Ones—% Lre&mgd_wm

.’Fg_mﬂ han  Hhare (as
Ten- {ens

| >y

Copyright © 2008 by Nelson Education Ltd. Learning BLM 3.5: Adding from Right 1o Lefé [ o5 |



Rounding Numbers Name

eound @g_to the nearest 10. .

IlIIIIIIlIIIlIIIIIIIlIIIJIIII

490 500 510

4860

Think: the closest multiples of 10 are 7{}and "8}
473 is closer to™ /().

473 rounded to the nearest 10 is "7/,

R R e s A R R P B T

He A R i B o g I A e S

Use the number lines to complete the sentences. O Whena number g

’ ' 0 ¢ hatfway between 2
Round 6@0 to the nearest 100. 8 \ multiples, round up.
‘lllllllllllllllllIIIIlIiIIiIlIlIIIIIlllllltlllllll__

6000 6100 6200 6300 b _s400 6500 &
O Think: the closest multiples of 100 are @350 and _{n 400
€ vasnd down
6350 is halfway between & 30 and (Y0 o\Va34
6350 rounded to the nearest 100 is MQO = _..7 ;;c-:}“—") rownd
A e S A T T Mtﬂm oo S up
Round 87692 to the nearest 1000. -
2-
411llllllIll[]lll]Illll!_llill‘llllllllIllllllllilllllﬁ
85 000 86 000 87 000 37' 500 88000 83 000 90 000

Think: the closest multiples of 1000 arem and ig*OQo
87 692 is closer to __2_8_QOO

87 692 rounded to the nearest 1000 is . 3000,

e R T L T A e S il SRR e G

Round the numbers. Use the number lines above if you wish.
:“4@7_to the nearest 10 __ Q) s. 6920 to the nearest 100 é) 400 ’
s. 6E0 to the nearest 100 ég_;ZQQ_ s. 89500 to the nearest 1000 90 000
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Multiples of 10, 100, and Name

« 1000 O

Count by 10. Write the multiples A multiple of 10 is a number
of 10 between 20 and 130. whose last digit is 0.

070, 30, 4O, B0, 60, 70, 80, 90,100, HO O, 130 14, 150
Complete.

A multiple of 100 is a humber
whose last 2 digits ore O.

. Count by 100. Write the multiples
of 100 between 600 and 1500.

0,800 900, looo, [IO0 |Auw300, oL, 1500

2. Count by 1000. Write the multiples A mottiple of 1000is anumber
of 1000 between 53 000 and 59 000. whose last 3 digits are 0.

e TR

Use the number lines to complete the sentences. @ ?

=2 1.,

@ 81 82 83 84 ef 86 87 88 89 @

The multiples of 10 on the number line are RO and 90
The multiple of 10 closer to 89 is ,39

480 4

410 420 430 440 60 470 480 490 (500
The multiples of 100 on the number line are iQ.O_ and __SQO
The multiple of 100 closer to 423 is HQ_D

R e o -'j*"w i 5_—_~"- AT R S e e T g S I R R M S e R A T T
5. (J*“'@ /e 3878
L ) 1

. | | ! l I 1 |

@@ 3100 3200 3300 3400 3§00 3600 3700 3800 3900 @
) The multiples of 1000 on the number line are 29%0angd __ ¢ QCD o

copyright & 1988 Addison-Wesley Publishers Ltd.

The multiple of 1000 closer to 3878 is ﬁ__o
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H Name: Date:

o

O Adding from Right to Left

Solve addition problems by adding from right to]

€sson

left.
1. Add from right to left. Show your work. At-Home Help
You can regroup by trading 10
a) , c) ; .
; . e smaller units for 1 larger unit,
1121215 4101712 of 1 larger unit for 10 smaller
+ 41371 +|3|712|4 /| units Follow these steps to
: add from right to left.
[16]5](, 717191 J

Step 1 Add the ones. if the
answer is 10 or more, regroup.

b d
. ) ai¥ed ) YL Step 2 Add the tens. If the
0 1178610 816|143 answer is 100 or more,
+{1(2|4|8 + 6|48 regroup.
olo 3 qix|9 ] Step 3 Add the hundreds. If

the answer is 1000 or more,
2. Jade’s mother saved $3966 this 41 t regroup.

\
year. Next year, she plans to save 3G b ‘o Step 4 Add the thousands.
$2992. Will she have enough

For example:
money to buy a car that costs 1 Qﬂﬂ&) 11
700 3762
<o \S $(pq5g +1942
© ONO Short 5704

3. In September, Joshua's website had 227 visits. - /
in October, it had 2143 visits. In November, 1
it had 2324 visits. Has the number of visitors CQ Q 7

reached 50007
A 14D

Ay W
@@ IR +2 324

R I

I’,' 22 Nelsc(;f Math Focus 4 ho 0 r\'\d 4‘ 6 q L+.Copyright © 2008 by Nalson Education Ltd.




Adding 4-Digit Numbers Mgu}uﬁ/

@ Solve addition problems using regrouping. ‘(bf

1. Complete the addition by writing in the spaces
in the place value chart.

“At-Home Help
You can add two 4-digit numbers

a) |Thousands | Hundreds | Tens Ones by regrouping.
A | -'-' 1 2539 + 1866
2 7 3 2 Thousands | Hundreds Tens Ones
1 1 1
_______ 2 (.8 | 68 | 9 . 2 s [ s | o
5 (a @) 1 |21 1 8 ] 6l 6 _ |
4 4 0 5
111
b) |Thousands | Hundreds Tens Ones . 2539
+ 1866
,ﬁ_ -
+H \ 4405
2 / 3 8 The answer seems reasonable
6 4§ 3 1 9 |  because 3000 + 2000 = 5000
"""""" &I T _l— 7 | - .? o and the answer is close to 5000, O

2. Estimate the sum. Then add.

.t = ! 1
a) Thoss 4 o0©  b)'3254 3006 ) 4310 Ho 0O
+2248 +Q0°° +862 .x~90Q  +3859 4 400OQ

éj_g)’-f Lovd p{-H_(? =29 00 g, (,,q OO

3. Estimate. Then solve.

a) There are 3456 Girl Guides in one area and 1672 in another area. 00t ;)mo =
What is the total number of Girl Guides in both areas? Seoo

“f H
5128 ot bLoth +e=2S  proas 348k

+ 1 1R
-_______.—n—-'
b) There are 1867 Wolf Cubs in one area and 4306 in another area. 5 | L &
What is the total humber of Wolf Cubs in both areas?
Joco +hemombeso  1EET i ek by

+1430k Addition an
L1713
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